DCIDK/1996/2024-F5

2rd

O/o District Collector Idukki Painavu P O , Kuylimala 685603 Phone: 04862-232242, 232303 Email :nodalofficerfin2024@gmail.com

Acvt Sangeetha Viswanathan Valiyaparambil Veedu, Friends Avenw Kurukkanjeri Kara Vadukara P.O, Thrissur

Sir.

Sub:- Discrepancies in the expenditure incurred by Smt.Sangeetha Viswanathan, BDJS candidate for Parliamentary Election at Idukki HPC – reg:

Ref:- Inspection of Day to Day Election Account Register of Candidate by Expenditure Observer on 15/04/2024.

Please refer to the above.

Following specific discrepancies/understatement of expenditure have been noticed while carrying out the inspection of day to day account register of the candidate based on the details and evidences available in the Shadow Observation Register (SOR) and Folder Of Evidence (FOE).

1 As per the verification of SQR and FQE the amount of Rs.3,05,119/- is not entered candidates register, please furnish the reason for not including the same in day to day account register.

Painavu

15/04/2024

Yours sincerely,

District Election officer &

Returning Officer, Idukki HPC

12 - N-24

1=0000

P.R. TOIDIGSAID

Do

Distrible Lion of icon and Delesing of icon 13- K. P. R. I Stanking

17.00

Die 12010103 DIL

From

P.C.Radhakumar

Adl Election Agent

To

District Election Officer &

Returning Officer

13- HPC Idukki

Sir,

Expenditure incurred up to 13/04/2024 was incorporated in the Election Expenditure Register submitted for inspection on 15/04/2024. It was pointed out during the inspection that certain items of expenditure accounted in the Shadow Observation register are not booked in the Expenditure Register. Those items are accounted on 14/04/2024.

Yours faithfully,

5d/-

Thodupuzha

17-04-2024

P.C Radhakumar

ist

The Returning Officer, 13-Idukki HPC.

Sir,

Sub: Discrepancies in the expenditure incurred by Smt. Sangeetha Viswanathan, BDJS Candidate for Parliamentary Election at Idukki HPC – reg:

Ref: Inspection of Day to Day Election Account Register of Candidate by Expenditure Observer on 11/04/2024

Please refer to the above.

Following specific discrepancies/understatement of expenditure have been noticed while carrying out the inspection of day to day account register of the candidate based on the details and evidences available in the Shadow Observation Register (SOR) and Folder Of Evidence (FOE).

- As per the details available in Shadow Observation Register and Folder of Evidence till 09.04.2024, the total expenditure incurred on the following items are noted:-
 - (a) Board with wooden frames is 5,992 @ Rs.30/sq.ft amounts to Rs.1,79,760/-
 - (b) Cloth banner with wooden Board is 504@ Rs.30/sq.ft amounts to Rs.15,120/-
 - (c) Cloth flags is 614 @ Rs.10/sq.ft amounts to Rs.6,140/-
 - (d) Wall writing 132@ Rs.7/sq.ft amounts to Rs.924/-
 - (e) Eco friendly flex/boher 222 @ Rs.20/sq.ft amounts to Rs.4,440/-

But these items are not accounted in the register maintained by the candidate. Therefore, there is omission of expenditure on the part of the candidate.

Also as per the Shadow Observation Register expenditure for the following items are also noted:-

Bandset, Air coolerar, Jeep, Loudspeaker, Stage on small vehicle vehicle,

- It is further noticed that the expenditure incurred in the following events are not included in the Expenditure Register of Candidate:-
 - (a) Convention at Cheruthoni, Kumily Rs.21,048/-
 - (b) Programme at Kothamangalam Star Campaigner Sri. A.N.Radhakrishnan Rs.20,671/-
 - (c) Election Convention at Vandiperiyar Rs.25,229/-

Expenditure towards the above items are to be included in the register of day to day accounts and produce for the inspection scheduled on 15/04/2024 at 02.00 PM

Painavu

11/04/2024

Yours sincerely,

District Election officer & Returning Officer, Idukki HPC Sub: Discrepancies in the expenditure incurred by Smt. Sangeetha Viswanathan, BDJS Candidate for Parliamentary Election at Idukki HPC – reg:

Ref: Inspection of Day to Day Election Account Register of Candidate by Expenditure Observer on 11/04/2024

Please refer to the above.

Following specific discrepancies/understatement of expenditure have been noticed while carrying out the inspection of day to day account register of the candidate based on the details and evidences available in the Shadow Observation Register (SOR) and Folder Of Evidence (FOE).

- As per the details available in Shadow Observation Register and Folder of Evidence till 09.04.2024, the total expenditure incurred on the following items are noted:-
 - (a) Board with wooden frames is 5,992 @ Rs.30/sq.ft amounts to Rs.1,79,760/-
 - (b) Cloth banner with wooden Board is 504@ Rs.30/sq.ft amounts to Rs.15,120/-
 - (c) Cloth flags is 614 @ Rs.10/sq.ft amounts to Rs.6,140/- ▶
 - (d) Wall writing 132@ Rs.7/sq.ft amounts to Rs.924/- N
 - (e) Eco friendly flex/boher 222 @ Rs.20/sq.ft amounts to Rs.4,440/- ♥

But these items are not accounted in the register maintained by the candidate.

Therefore, there is omission of expenditure on the part of the candidate.

Also as per the Shadow Observation Register expenditure for the following items are also noted:-

Bandset, Air coolerar, Jeep, Loudspeaker, Stage on small vehicle vehicle,

- It is further noticed that the expenditure incurred in the following events are not included in the Expenditure Register of Candidate:-
 - (a) Convention at Cheruthoni, Kumily Rs.21,048/-
 - (b) Programme at Kothamangalam Star Campaigner Sri. A.N.Radhakrishnan Rs.20,671/-
 - (c) Election Convention at Vandiperiyar Rs.25,229/-

Expenditure towards the above items are to be included in the register of day to day accounts and produce for the inspection scheduled on 15/04/2024 at 02.00 PM

Painavu

11/04/2024

Yours sincerely,

District Election officer &

Returning Officer, Idukki HPC

The District Election Office & Returning Officer. 13-Idukki HPC

Sub :

Reply to your show cause dated 11/04/2024 on discrepancies in the expenditure incurred by Smt. Sangeetha Viswanathan, BDJS Candidate for Parliamentary Election at Idukki HPC-reg: Show cause dated 11/04/2024 on discrepancies in the expenditure incurred by Smt. Sangeetha Viswanathan, BDJS

expenditure incurred by Smt. Sangeetha Viswanathan, BDJS
Candidate for Parliamentary Election at Idukki HPC-reg: referred
by you under the inspection of Day to Day Election Account

Register of Candidate by Expenditure Observer on 11/04/2024.

Sir.

With due respect to your show cause dated 11/04/2024, first of all it is respectfully submitted that Smt. Sangeetha Viswanathan, BDJS Candidate for Parliamentary Election at Idukki HPC has submitted her election account statement till 09/04/2024 and you have given the discrepancies/understatement till 09/04/2024 and all the understatements have been covered in the account register dated 10/04/2024 and 11/04/2024. On verifying the account registers on 10/04/2024 and 11/04/2024, the statement of accounts and all the understatement will be ratified and will be clarified. The day to day account of the candidate is maintained up-to-date in the account register without any fail, but due to the lack of timely information about the actual numbers of the materials used the discrepancies have been arose in the account maintained.

Answering on show cause points.....

 The total expenditure on the items have been covered in the account register by date 10/04/2024.

> (a) The board with wooden frames are noted and accounted as on 10/04/2024 is 7200 @ Rs.30/sq.ft amounts to Rs.2,16,000/-

> (b) Cloth banner with wooden Board are noted and accounted as on 10/04/2024 is 2100
>
> ® Rs.30/sg.ft amounts to Rs.63,000/-

(c) Cloth flag are noted and accounted as on 10/04/2024 is 3000 @ Rs.10/sq.ft amounts to Rs.30,000/-

(d) Wall writing are noted and accounted as on 10/04/2024 is 342 @ Rs.7/sq.ft amounts to Rs.2,394/-

(e) Eco friendly flex/boher are noted and accounted as on 10/04/2024 is 430 @ Rs.20/sq.ft amounts to Rs.8,600/-.

Bry had

These items are accounted and are maintained as on 10/04/2024 and the reply may be considered and the expenditure may be verified.

The total expenditure on the items have been covered in the account register by date 10/04/2024.

Air cooler (5 in no.s) has been used from 03/04/2024 to 10/04/2024 and is accounted @ Rs.5,740/-.

Bandset, Jeep, Loudspeaker, Stage on small vehicle are already submitted as on 09/04/2024 and will be clarified from pages 5to 10. Instead of small vehicles we have given the accounts of large vehicle.

- 3. The expenditure discrepancies under point number 3 are answered as....
 - (a) The convention on Cheruthoni is accounted in page number 6 and 7 on the accounts submitted on 09/04/2024 and is accounted on a total of Rs.24,985/- on 03/04/2024.
 - (b) Programme at Kothamanglam is already valued on 09/04/2024 as Rs.16,500/- in page number 7 dated 04/04/2024. The show cause notice exceeds an amount of Rs.4,171/-. The vehicle rent of the star campaigner was not calculated on the accounts on 09/04/2024 and it is calculated at Rs.6,230/- including vehicle rent and other charges. It is accounted on 10/04/2024.
 - (c) The total expenditure in Election Convention Vandiperiyar was mistaken due to the non calculation of certain expenses in the convention. The total expenditure was shown as Rs.11,860/- and there is a difference of Rs.13,369/- in the expenditure in convention and the total is calculated as Rs.25,229/- by the observer. On a late information it is understood that Rs.14,400/- has been also spend for the convention and is ratified in account register by date 10/04/2024 and now the total expenditure for the convention is Rs.26,260/-.

With all respect to the election monitoring system it is respectfully submitted that there occurred some understatement only due to the lack of proper information on time and all the discrepancies shown have been ratified in the account register as soon as it was noticed. I take apology on the mistakes and understatement occurred for the time being.

Thanking You,

Yours faithfully

THODUPUZHA 13/04/2024 P.C. RADHAKUMAR EXPENDITURE ELECTION AGENT = 20/04/2024

SANGEETHA VISWANATHAN

item	rate	quantity	amount	schedule
air cooler			1050	1
Air cooler/day	588	6	3528	- 1
arches			5400	- 1
BANDSET			12000	1
Bandset/day	4000	1	4000	1
campaining office rent			82000	
Car 7 seater/80km	2500	4	10000	1
chair			1200	. 1
chair			7200	1
Chair armless/day	6	228	1368	
Cloth flag/sq.ft	10	2059	20590	-1
Codeless microphone/day	300	2	600	1
ELECTION OFFICE PANTHAL ERECTION			56000	-
flag			30000	
Ganamela/Nadanpattu/person	500	1	500	
generater	(20,500)		7168	
Generator 25 KVA without operater/day	2750	2	5500	
Generator 3.5 KVA with operater/addl				
days	278	6	1668	1
Generator 3.5 KVA with operater/day	470	1	470	1
Generator 6 KVA without operater/day	1200	1	1200	1
Hall 500 seats rent/day	5000	2	10000	1
Hall less than 500 seats rent/day	3000	2	6000	1
Hall mini rent/day	2000	2	4000	
HALL RENT			23000	
hall rent			15000)
Halogen light 500 watts/day	51	6	306	1
hanging decorations			600	
Heavy goods vehicle/day	6000	1	6000	
kudumba yogam			17800	
Loudspeaker 300 watts/day	400	5	2000) 1
Loudspeaker 300 watts/day			7500) 1
LUNCH			37045	
lunch			62500	
lunch			9940) 1
mic rent			6400	
micriphone			31400	1
Microphone with stand/day	100	1	100	
Mini bus/day	5000	2	10000	1
nadanpattu		6.574	500	1
office rent			60000	
office rent			(42509	
panthal rent			252000	

2

Podium rostum/day	275	6	1650	
Podium rostum/day			7150	
Podium/Panthal/sq.ft	14	192.85	2699.9	-
programme	21048	1	21048	-
programme peerumed	25229	1	25229	
Public addrssing system 10000			23229	_
watt/addl days	10000	1	10000	
Public addrssing system 10000 watt/ad-	dl days		(34000)	
Public addrssing system 2000 watt/addl days	2000	2	4000	
Public addrssing system 2000 watt/day rent	4000	5	20000	
rent			112000	
table			8000	113
table			900	
			2700	- 5
Table rent/day	30	1	30	9
Tempo traveller/80 km	4000	4	16000	
vanitha programme			4000	1
0.2.28.2.00.00			1125439.9 1 Sum	
programme	20671	1	20671	2
1.			20671 2 Sum	
sudio song			14000	
Budio song			(3000)	3
Board with wooden frams/sq.ft	30	20791	623730	3
rd player		1	8000	3
d player		*	37250	3
Construction of election campaign office/sq.ft	20	100	2000	3
Eco freindly flex/boher/sq.ft	20	372	7440	3
Erection of arches in front of campaign offices/number	2700	2	5400	- 100
lex		-	287600	3
Hoarding/sq.ft	30	60	1800	2
ED wall			31000	3
.ED wall 10*4 ft vehicle/day	5000	1	5000	
notice	2100	-	74000	2
notice			66000	3
Poster demmy/piece	2	3558	7116	3 3 3 3
Poster doubly demmy/piece	4	502	2008	3
oster half demmy/piece	1.1	314		3
oster half demmy/piece	2,1	314	345.4 2524	3
oster printing			The second secon	3 3 3
RINTING			100500	3
vall writting			24000	3
Vall writting/sq.ft	7	321	2394	3
	,	321	2247	3
liring charges of loudspeaker with mplifier/day			1307354.43 Sum	

Stage on big vehicle/day	5500	1	5500	5
Stage on small vehicle/day	3000	3	9000	5
Vehicle announcement excluding vehicle rent/day	1500	7	10500	5
ann /			3000	5
ANNOUNCEMENT CHARGES			7500	5
dec veh+ann			132000	
DISEL			16000	5 5
disel			17000	5
disel			(45000)	5
DRIVER SALARY			6570	5
driver salary			3650	5
driver salary			(14500)	5
Fully decorarted jeep/day	4500	15	67500	
Fully decorarted jeep/day	1000		270000	5
FULLY DECORATED JEEP			84000	5 5
Jeep/80 km	3000	15	45000	5
Stage on big vehicle/day			63000	5
Stage on small vehicle/day			(150000)	
stage veh+ann			21000	5
vehicle announcement			49500	
Vehicle announcement excluding vehi-	cle rent/day		324500	5 5
			1352320 5 Su	m
SECURITY DEPOSIT			25000	9
			25000 9 Su	m
CRIMINAL CASE ADVT			59811.6	11
			59811.6 11 S	um
			3890596.9 Gran	nd Sum
Schedule 1	1125439.9	1292120	-166680.1	_
Schedule 2	20671	21000	-329	
Schedule 3 Materials	1307354.4	883625	423729.4	
Schedule 5 Vehicle	1352320	1207320	145000	
Schedule 9	25000	25000	0	
Schedule 11	59811.6	59812	-0.4	
Schedule 12	0		0	
	3890596.9	3488877	401719.9	

and.

AS PER SOR					AS PER CANDIDATE REGISTER	UNDERSTATEM ENT
item	rate	Number	Quantity	Amount		
Air cooler/day	588		1	588		
Bandset/day	4000		1	4000		
Board with wooden frams/sq.ft	30	224	5992	179760	136800	./
Chair armless/day	6		1	6		
Cloth banner with wooden board/sq.ft	30		504	15120		
Cloth flag/sq.ft	10		614			
Construction of election campaign office/sq.ft	20		100	2000	¥ 2000	
Eco freindly flex/boher/sq.ft	20	7	222	4440		
Erection of arches in front of campaign offices/number	2700		1	2700	✓ 10800	
Hall less than 500 seats rent/day	3000		1	3000	< 3000	
Hall mini rent/day	2000		2	4000	★ 3000	
Jeep/80 km	3000		5	15000	1 15000	
Loudspeaker 300 watts/day	400		3	1200		
Microphone with stand/day	100		1	100		
Podium rostum/day	275		1	275		
Poster demmy/piece	2		1156			
Poster doubly demmy/piece	4		158	632	24000	
Poster half demmy/piece	1.1		233	256.3		
Public addrssing system 2000 watt/day	4000		1	4000		
Stage on big vehicle/day	5500		1	5500	+7000	
Stage on small vehicle/day	3000		1	3000 /	+7000	
Wall writting/sq.ft	7		132	924		
Programme @ CHERUTHONI, convenction	21048		1	21048		
Programme @ kothamangalam A N RADHAKRISHNAN, STAR	20671		1	20671	()
Election covention @ vandiperiyar	25229		1	25229		
				321901.3		

184600

ABSTRACT EXPENDITURE OF SANGEETHA VISWANATHAN MUVATTUPUZHA KOTHAMANGALAM DEVIKULAM UDUMBANCHOLA THODUPUZHA IDUKKI PEERUMED TOTAL DATE/LAC 28.03.2024 29.03.2024 30.03.2024 31.03.2024 01.04.2024 62829.7 100851.7 02.04.2024 03.04.2024 22068.6 6.6 04.04.2024 05.04.2024 06.04.2024 07.04.2024 08.04.2024 09.04.2024 10.04.2024 11.04.2024 12.04.2024 13.04.2024 14.04.2024 15.04.2024 16.04.2024 17.04.2024 18.04.2024 19.04.2024 20.04.2024 21.04.2024 22.04.2024 23.04.2024 24.04.2024 25.04.2024 26.04.2024 04.06.2024 TOTAL 321901.3 133987.3

	AS PER SOR				AS PER CANDIDATE REGISTER
SI					MODIER
No	item	rate	Quantity	Amount	
1	items of expenditure as per sor		200000000000000000000000000000000000000	7.07.00	
	Air cooler/day	588	1	588	120
	Bandset/day	4000	1	4000	400
	Board with wooden frams/sq.ft	30	10551	316530	41580
	Chair armless/day	6	- 3	18	
	Cloth banner with wooden board/sq.ft	30	504	15120	/
	Cloth flag/sq.ft	10	830	8300	2
	Construction of election campaign office/sq.ft	20	100	2000	200
	Eco freindly flex/boher/sq.ft	20	270	5400	860
	Election covention @ vandiperiyar	25229	1	25229	/
10	Erection of arches in front of campaign offices/number	2700	2	5400	-5400 1080
	Fully decorarted jeep/day	4500	6	27000	2700
	Ganamela/Nadanpattu/person	500	1	500	
	Generator 3.5 KVA with operater/addl days	278	6	1668	-
	Hall less than 500 seats rent/day	3000	2	6000	3000 3000
	Hall mini rent/day	2000	2	4000	300
	Hiring charges of loudspeaker with amplifier/day	1500	5	7500	/
	Jeep/80 km	3000	- 5	15000	15000
18	Loudspeaker 300 watts/day	400	3	1200	
19	Microphone with stand/day	100	1	100	
20	Podium rostum/day	275	2	550	
21	Poster demmy/piece	2	2506	5012	98000
22	Poster doubly demmy/piece	4	381	1524	
	Poster half demmy/piece	1.1	233	256.3	
	Programme @ CHERUTHONI, convenction	21048	1	21048	/
	Programme @ kothamangalam A N RADHAKRISHNAN, STAR	20671	1	20671	~
26	Public addrssing system 2000 watt/addl days	2000	- 2	4000	1.
27	Public addrssing system 2000 watt/day	4000	1	4000	2
28	Stage on big vehicle/day	5500	1	5500	7000
29	Stage on small vehicle/day	3000	2	6000	7000
30	Wall writting/sq.ft	7	215	1505	1000
	TOTAL AS PER SOR (I)		11.0	515619.3	
	ITEMS ADDED ON 09.04.2023 FROM CANDIDATES REGISTER				
1	SECURITY DEPOSIT			25000	
2	DISEL			16000	
3	DRIVER SALARY			6570	
4	ELECTION OFFICE PANTHAL ERECTION			56000	
5	ANNOUNCEMENT CHARGES			7500	
6	LUNCH			37045	
7	BANDSET			12000	
- 8	HALL RENT			23000	
9	FULLY DECORATED JEEP			84000	
10	PRINTING			24000	
	TOTAL (I)			291115	
	ITEMS ADDED ON 13.04.2023 FROM CANDIDATES REGISTER				
1	driver salary			3650	
-	lunch			62500	
	notice			74000	
_	flag			30000	

	5 wall writting	2204
	6 flex	2394
_	7 rent	287600
100	8 rent	112000
_	9disel	8000
1	Oaudio song	17000
	1 cd player	14000
	2 mic rent	8000
1	3 dec veh+ann	6400
	4 stage veh+ann	132000
1.	5 ann	21000
10	Gair cooler	3000
1	7 chair	1050
18	Btable	1200
	TOTAL (III)	900
	GRAND TOTAL (I+II+III)	784694
IV	DEDUCT	1591428.3
	Board with wooden frams/sq.ft	
	Stage on big vehicle/day	128200
	Stage on small vehicle/day	7000
	vehicle	7000
	Fully decorarted jeep/day	15000
	Hall less than 500 seats rent/day	27000
	Public addrssing system 2000 warr/addl days	6000
	Construction of election campaign office/en fr	7500
	ELECTION OFFICE PANTHAL EDECTION	10800
	AS PER CANDIDATE REGISTER ON 09 04 2024 (III)	2000
	AS PER CANDIDATE REGISTER ON 13.04.2024 (III)	291115
	IOIAL (IV)	784694
	TOTAL EXPENSES TO BE ADDED BY THE	1286309
_ (CANDIDATE (III-IV)	305119.3

2nd

DATE/LAC	MUVATTUPUZHA	KOTHAMANGALAM		F SANGEETHA VISU UDUMBANCHOLA		IDUKKI	DEEDLIMED	TOTAL
28.03.2024	(CD CHILL II TOLIOLIT	THODOI CEIN	III CIKIKI	FEDROMED	TOTAL,
29.03.2024								
30.03.2024								
31.03.2024								
01.04.2024	25614	12300	0	108	62829.7	0	0	100851.
02.04.2024	7396			- 7.00				100000000000000000000000000000000000000
03.04.2024	14		The second secon		6.6		100000	The second second second
04.04.2024	16		10		3600			3006
05.04.2024	5040				0	The second section is a		
06.04.2024	1504	7.77	519		2272			11110
07.04,2024	1196		2 100		4400		05000	4218
08.04.2024	6492		2212	2986	2210		17.500	16660
09.04.2024	0		1262	18748	57229	Company of the Compan		78963
10.04.2024	7924	0.74.74	3078		3674	3000	70.0	27456
11.04.2024	793	10.000	2470	(1900)	8318	7172		39457
12.04.2024	3456		2080	1020	15204	16490	4274	43982
13.04.2024	2612	100000	2890	4048	10150	57303	2940	82823
14.04.2024		30000			10150	37000	2,540	02020
15.04.2024								ì
16.04.2024								
17.04.2024								
18.04.2024								
19.04.2024								0
20.04.2024								0
21.04.2024								0
22.04.2024						417		0
23.04.2024								0
24.04.2024								0
25.04,2024								0
26.04.2024								0
14.06.2024								0
TOTAL	62057	80365	16806	33216	171333.3	109749	42093	515619.3

Expendent in reduction to exection of Cloth banners, as per sor and is 98260/-. How However the randulates has not accompted any expendential for the items.

The discripencies, noted above and may be.
The expenditule for the orbune
itens may be incorporated in the
accomb of the condidate.

DATE	MUVATTUPUZHA	KOTHAMANGALAM	DEVIKULAM	UDUMBANCHOLA	THODUPUZHA	IDUKKI	PEERUMED	TOTAL
28.03.2024	(DEVICUSIN	obombin (circus)	THOUSE CLIENT	in cities	PERKUMEN	TOTAL
29.03.2024								
30.03.2024	0							
31.03.2024	0							
01.04.2024	0							
02.04.2024	80102	183184	15554	15524	295473.5	0		589837.
03.04.2024	37801	The same of the sa	20000		The second secon	-	The second secon	- Charles and the Control of the Con
04.04.2024	19698					The second second second		and the second s
05.04.2024	22291					12-12-12-12-12-12-12-12-12-12-12-12-12-1	110000000	The second secon
06.04.2024	25864	37,77,7						
07.04.2024	20443		The second secon	The second secon	1/1/2/20/20/20/20/20/20/20/20/20/20/20/20/2	The state of the s	The second secon	10/4/47/57
08.04.2024	28761	A STATE OF THE STA	and the second s	The state of the s		The second secon	The second secon	
09.04.2024	0	177.700	The second secon	10.000000000		The second second second	The state of the s	The second secon
10.04.2024	13136		The second secon		V17107000	The second second	- Landing Control	100000000000000000000000000000000000000
11.04.2024	6742		Street Production	8383.5	50000000000000000000000000000000000000	30242	-	
12.04.2024	65155	Total and the second section	grow the control of the property of				the second secon	The state of the s
13.04.2024	15316	500000	Li les Constitution	A STATE OF THE PARTY OF THE PAR		71028	1644470000000	
14.04.2024						1.40.00		
15.04.2024								1
16.04.2024								
17.04.2024								
18.04.2024								
19.04.2024								
20.04,2024								
21.04.2024								(
22.04.2024								(
23.04.2024								
24.04.2024								(
25.04.2024								(
25.04.2024			7					(
04.06.2024								(
TOTAL	335309	509160	127331.6	185947	645559.08	220974	156557.9	2180838.58

Soiro Creene

Permiserons for using relicles for
campany was obtained from
Ro office. However, expended him
of \$\overline{2}\$ 56000/- has been accessified by
the remobilate. Expenses for vehicles
based on previousness may be
adeled to the day to day accounts
maintained of the remobilat. The
expenses incurred for relicle amount
ment may also be adoled to in the
register.

De the appenditue for execting boards with wooden frames in different parts of the constituency comes to amounts to 195195/- , as per sor. However, expenses in this regard as per the candidate register to end 572400/- The undustratement of expenditue may be accounted by the candidate.

3 As per sor, the expendente incurred for wall worthing is 145369/-, as on 13/04/2024. However the anount

O/o District Collector Idukki Palnavu P O , Kuyilmala 685603 Phone: 04862-232242, 232303 Email:nodalofficerfin2024@gmail.com

Advt.Sangeetha Viswanathan Valiyaparambil Veedu, Friends Avenew Kurukkanjeri Kara Vadukara P.O, Thrissur 680007

Sr,

Sub:-Discrepancies in the expenditure incurred by Smt.Sangeetha Viswanathan, BDJS candidate for Parliamentary Election at Icluikki HPC - reg:

Ref:-Inspection of Day to Day Election Account Register of Candidate by Expenditure Observer on 24/04/2024.

Please refer to the above.

Following specific discrepancies/understatement of expenditure have been noticed while carrying out the inspection of day to day account register of the candidate based on the details and evidences available in the Shadow Observation Register (SOR) and Folder Of Evidence (FOE). As per the verification of SOR and FOE the following items are under estimated in your accounts.

 Board with wooden frames and vehicles If there is any objection regarding the accounting of expenditure in SOR, submit documentary evidence in this regard. You are directed to submit the reply with in 48 hours.

At the time of Final inspection you are requested to submit the following documents without fail.

- 1 Day to Day Account Register
- 2. Abstract statement of Election Expenses (Part I to Part IV and Schedules 1 to 11) duly signed by the candidates
- Affidavit notarized and duly signed by the candidates
- Self attested up to date Bank Statement
- All Bills and Vouchers

DESPATE OF

Yours sincerely.

District Election officer &

Returning Officer, Idukki HPC

H. P.C. Delek KI

Gin

> 10. = . Radhukus Lexposodilio Election 12 gard.

From
P.C.Radhakumar
Adl Election Agent
To
District Election Officer &

Returning Officer

13- HPC Idukki

Sir,

Understatement of Expenses noticed in the Election Expenditure Register of candidate will be incorporated at the time of final settlement.

Yours faithfully,

Sd/-

Thodupuzha

25-04-2024

P.C Radhakumar

Sheet2

CANDIDATES EXPENDITURE

SI NO	CANDIDATES NAME	PERIOD	AMOUNT
1	Advt.Joice George, LDF	as on 09-04-2024	22,70,254.7
2	Advt.Dean Kuriakose, UDF		14,44,880.98
3	Advt.Sangeetha Viswanathan, BDJS		3,21,9013

CANDIDATES EXPENDITURE

1	Advt.Joice George, LDF	as on 13-04-2024	31,74,397.7
2	Advt.Dean Kuriakose, UDF		21,80.838.58
3	Advt.Sangeetha Viswanathan, BDJS		5,15,619.3

CANDIDATES EXPENDITURE

1	Advt.Joice George, LDF	as	00	2 9 - 04 204	56,03,525-4
2	Advt.Dean Kuriakose, UDF				46,63,290.18
3	Advt.Sangeetha Viswanathan, BDJS				4,01,719.9

Dem - Rection expanditure as per sor omounty -6 Rs. 46, 63, 290 to be included in condidated Register. Join - Election enpenditure as per yor emounting to Rs 56,03,525/- 17 not shown in Condidat Regin -Smywthe -Rum expr as pro sok andy. RI H, 01, 720/- is trot included. in condider fyrt-PK sayener. -> No

ABSTRACT STATEMENT OF ELECTION EXPENSES

ABSTRACT STATEMENT OF ELECTION EXPENSES

1	Name of the Candidate	Shri/Smt./Km. Savagee His
п	Number and Name of Constituency	H. P. C 013, Idulalai
m	Name of State/Union Territory	Icanala
IV	Nature of Election (Please mention whether General Election to State Assembly/Lok Sabha/Bye-election)	Common Elections
v	Date of declaration of result	04-06-2024
VI	Name and Address of the Election Agent	Pralibersh Poalsta & 12550
VII	If candidate is set up by a Political Party, please mention the name of the Political Party	Para Sara
νш	Whether the party is a recognised political party	Yes/No

Place: tuyilimala Date: 30/06/2024

Signature of the Candidate

Name: Adv. Sangeatha Viswanathan

PARE—II
ABSTRACT OF STATEMENT OF ELECTION EXPENDITURE OF CANDIDATE

SL No.	Particulars	Ann. Incurred/ Auth. by Candidate/ Election agent (in Rs.)	Amt. Incurred/ authorized by Pol. Party (in Rs.)	Amt. Incurred/ authorized by others (in Rs.)	Total Election Expenditure (3)+ (4)+ (5)
1	2	3	4	5	6
Ι	Expenses in public meeting, rally, procession etc.:— I. (a) Expenses in public meeting, rally, procession etc. (i.e. other than the ones with Star Campaigners of the Political Party (Enclose as per Schedule-1)		10 El 704	-250 B.H.	13.02570
	I. (b) Expenditure in public meeting, rally, procession etc. with the Star Campaigner(s) (i.e. other than those for general party propaganda) (Enclose as per Schedule-2)	26.24 2.27 2.21 2.21			
П	Campaign materials other than those used in the public meeting, rally, procession etc. mentioned in S. No. 1 above (Enclose as per Schedule-3)	stel.	53.120	592 9u	ವಿಶ್ವವಿಶ್ವ
III.	(a) Campaign, through print and electronic media including cable network, bulk SMS or internet and Social Media in privately owned newspapers/TV/radio channels etc. (Enclose as per Schedule-4)	-	-		-
	(b) Campaign, through print and electronic media including cable network, bulk SMS or internet and Social media in newspapers/TV/radio channels etc. owned by the candidate or by the political party sponsoring the candidate (Enclose as per Schedule-4A)	_		1,11,800-	1,11,800 -
V	Expenditure on campaign vehicle (s), used by candidate (Enclose as per Schedule-5)	_	14,60,980		14,60,980
v	Expenses of campaign workers/ agents (Enclose as per Schedule-6)		847,87,8		28,78,958-
vi	Any other campaign expenditure		1, 10, 160		, .v. 186-

Sanglesthouserethan

VII	Expenses incurred on publishing of declaration regarding criminal cases (Enclose as per Schedule-10)	-	80, TII ~	So, 140-	1. 60 ,851-
VIII	VIII Expenses incurred on Virtual Campaign (Enclose as per Schedule 11)				
	Grand Total	.	5.20.000	1035717	75,55,717

		4 10 20 20
SL No.	Particulars	Amount (in Rs.)
1	2	3
1	Amount of own fund used for the election campaign (Enclose as per Schedule-7)	
П	Lump sum amount received from the party (ies) in cash or cheque etc. (Enclose as per Schedule-8)	b5, 20,000
ш	Lump sum amount received from any-person/company/firm/associations/ body of persons etc. as loan, gift or donation etc. (Enclose as per Schedule-9)	10, 35, 717
02	Total	75,55, 717

PRATHEES PRABHA ESC. CO. Adviced State of the Inches of th

ERAJUDITRE PARTICULARS

St. ne Color Day Color IS

PARI-IV

FORM OF AFFIDAVIT

Before the District Election Officer Neural HPC 013 (District, State/Union Territory)
Affidavit of Shri/Smt/Ms Sangeette Viswanahan (S/o, W/o, D/o)
Affidavit of Shri/Smt/Ms. Cangell Le. UIS (Canal New (S/o, W/o, D/o)
VISWOONShies I SANGEETHA VISWANDATHAW son/wife/daughter of
VISWOONATHAN, VALLYAPARAMBIL (H) agod 47 years
to VALIYABARAMBIL Scenkipurcen do hereby solemnly and sincerely state and declare as under:-
(1) That I was a contesting candidate at the general election/bye election to the House of the People/ Legislative Assembly of
from Joukki HPC 013 Parliamentary/Assembly
constituency, the result of which was declared on 4-6-2029
(2) That I/my election agent kept a separate and correct account of all expenditure incurred/authorised by
me/my election agent in connection with the above election between $6-4-2024$
(the date on which I was nominated) and the date of declaration of the result thereof, both days inclusive,
(3) That the said account was maintained in the Register furnished by the Returning Officer for the
purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the
said account.
(4) That the account of my election expenditure as annexed hereto includes all items of election
expenditure incurred or authorised by me or by my election agent, the political party which sponsored me, other
associations/body of persons and other individuals supporting me, in connection with the election, and nothing has
been concealed or withheld/suppressed therefrom [other than the expense on travel of leader's covered by
Explanations 1 and 2 under section 77 (1) of the Representation of the People Act, 1951].
(5) That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also
includes all expenditure incurred or authorised by me, my election agent, the political party which sponsored me,
other associations/body of persons and other individuals supporting me, in connection with the election.
(6) The decision of the first term of the first
(6) That the statements in the foregoing paragraphs (1) to (5) are true to the best of my knowledge and belief, that nothing is false and nothing material has been concealed.
) Janethan
belief, that nothing is false and nothing material has been concealed. Deponent Total Sourgetton
Deponent
HOUSE OF HE OF THE OF
Solventy affirmed/swom by the deponent in Mesmaly this
de of 200 And Lily 24
PRATHEESH PRABHA B.Sc.,LLB. 29/6/4
Manual Production College No. K(1182/01
Advocate & Hotaly, Roll Hotself Signature and Seal of the Attesting Authority Adirnali, Idukki District Signature and Seal of the Attesting Authority Reg No. 13476 Kerala State, India - 685 561 i.e. Magistrate of the First Class or Outh Commission or Nature Publics
Mob: +91 - 944/820004 NOTARIAL REGISTER PARTICULARS Vol. No
OF IN 1086 Par 29/6/2024

ACKNOWLEDGEMENT FORM

То		
THE RETURNING	OFFICER,	
***************************************	A	
Sir,		
I acknowledge rece	ipt of your letter No.	
	AND	
dated	along with its er	closures containing, among other documents, a Register
bearing Serial No	for maintai	ning of my accounts of election expenses.
2. I have noted the	requirements of law for maintenan	ice of account of election expenses and lodging of true
copy of that account with	the District Election Officer/Return	ning Officer.*
		V 6146.0
		Yours faithfully,
		N.M.
		12
		(Signature of Candidate with date)
*Strike off whichever is in	nanolicable	
Sume on whitever is in	in production of the control of the	
	ACKNOWLED	
	(To be filled up	by Office)
The account of the	alastian argument in recent of	
		(Date) has been filed by him/on his
behalf on	(Date) and has been receive	d by me today the
(Date) of	(Month)	(Year).
		District Electoral Officer
		3
District		Office Seal.

Schedules- 1 to 11: Details of Elections Funds and Expenditure of Candidate

-	ne la moletta accepta	e milio menerativa di	est floor care	and the same and the same and the	Charles Control of the Control of th	of the Paris A	
S. No		g, rally, procession el of Expenditure		otal Amount	10000	of the Political party rce of Expenditure	
5, (NO	weture	or expenditure		in Rs.	Ant. incurred / Auth. by Candidate	Amt. incurred / by Pol. Party	Amt.
			-		/ agent	with name	others
1	and the second control of	2		3	4	5	6
-	Vehicles for transpo			-0d7.5c		5.7,760	- 5.000
	poles etc.	ndal & Furniture, Fort	77 30	44.00		5,44,000	-
3	Arches & Barricade	s etc.		_			
4	Flowers/ garlands						
	Hiring Loud speake amplifiers, compare			40.668	1	-40,666	
	Posters, hand bills, Cut-outs, hoarding	pamphlets, Banners		_		(0,000	
	Beverages like tea, etc.	Water, cold drink, ju	and the second second	97,242.		1,76,376	2 20 8
	Digital TV -boards tickers boards, 3D	display, Projector di display	10.101	-		1	4,4-10
9	Expenses on celeb musicians, other ar	rities, payment to rtists remuneration	etc.	77,000-		97.00	
2000	Illumination items like sorial lights, boards etc.			_			
	vehicles/ boats etc	port, Helicopter/ airc charges (for self, her campaigner othe ner)		_			
12	Power consumption	n/ generator charges	. I	29.400		29,400	
13	Rent for venue		0 0	04.500		1:04.50	
14	Guards & security	charges	,			1,-1,-0	
15		expenses of self, actionary or any othe ing Star Campaigner		2.000		2,000	
16	Others experses	Deposil.		25.000-			25,000
	Total			07,570		10,51,70	
n e		1		Schedule- 2		,	
Expe	enditure in public m	neeting raily, process	ion etc. wit	yriesiana wi	ilgner(s) as apportion	ned to candidate (is	e; other than
S.No	Date and Venue	Name of the Star Campaigner(s) & Na Party	ame of	procession etc apportioned to t	penditure on pilb with the St the candidate (As off da) in Rs. 52, 13	ar Campaigner(s ner than for genera	any
1	2 .	3			4		5
DA-12	sques kollo	ratioku Kondlad	10A7		Source of Expenditu	ure	
cio	28.8.64	13:4.17		Amount by Candidate/Agen	Amount by Pol t Party	Amount by Others	
0.00	torses		0.17				
2		.52,120	210		52.12	212	

4 Total

Schedule-3

Details of expenditure on campaign materials, like handbills, pamphlets, posters, hoardings, banners, cut-outs, gates & arches, video and audio cassettes, CDs/ DVDs, Loud speakers, amplifiers, digital TV/ board display , 3 D display etc. for candidate's election campaign (le: other than those covered in Schedule- 1 & 2)

S. No.	Nature of Expenses	Total Amount in Rs	S	Remarks, if any		
			Amt. By candidate/ agent	Amt. By Pol. Party	Amt. By others	
1	2	3	4	5	6	7
1	Printing	2,94,520-		2,94,500		
2	Barren Ediculati	197 CAS (8)		4.81, 247		
3	Loud speakers	A STATE OF THE PARTY OF THE PAR		1.26,750		
4	had wall Brebes	The state of the s		93,000		
Total		6.88,498		9,95,517	5,98,911	

Schedule-4

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in privately owned newspapers/TV/radio channels etc.

S. No	Nature of medium	Name and address of media provider		Total Amount in Rs.	Sources of Expenditure				
	(electronic / print) and duration	(print /electronic /SMS / voice/ cable TV, social media etc.)	stringer, company or any person to whom charges / commission etc. paid/ payable, if any		Amt. By candidate/ agent	Amt. By Pol. Party	Arnt. By others		
1	2	3	4	5	6	7	8		
1									
2				411					
3									
4									
Total				177					

Schedule-4A

Details of expenditure on campaign through print and electronic media including cable network, bulk SMS or Internet or social media, news items/TV/radio channel etc., including the paid news so decided by MCMC or voluntarily admitted by the candidate. The details should include the expenditure incurred on all such news items appearing in newspapers/TV/radio channels, owned by the candidate or by the political party sponsoring the candidate.

S.No	Nature of Name and medium a.ddress of media		Name and address of agency, reporter, stringer,	Total Amount in Rs.	Sources of Expenditure				
	(electronic/ provider (print company or any person to print) and /electronic /SMS whom charges / commission etc. paid/ social media etc.) payable, if any	/electronic /SMS whom charges / / voice/ cable TV, commission etc. paid/		/electronic /SMS whom charges / / voice/ cable TV, commission etc. paid/		Amt. By candidate/ agent	Amt. By Pol. Party	Amt. By others	
1	2	3	4	5	6	7	8		
1	150 m	-	-	1,18,000/=	-	100	1,18,000		

Adu Sarged Visuandhan.

2	100		-1									
3				Ť								
4			+	÷				-		-		
Total			_	+				-		_		
	200			t					-			
	ule -5 of expenditur	re on campaign	vehicle	(s) a	nd poli	expenditure o	n vehicle(s) fo	or candidate	's electio	on car	mpaign	
S No Regn. No. of Hiri Vehicle &		Hiring Charges	of vet	nide				Total amt.	Source	of Ex	openditure	
	Type of Vehicle	Rate for Hiring of vehicle/ maintenance	(If n	charg ot cov er hini	vered	Driver's charges (If not	for which used charges		auth, in Amt. By candidate agent		Amt. By Pol. Party	Amt. By others
	Sec. 111/1					covered under hiring)					SHI.	
1	2	3a		36		30	4	5	6		7	8
1	21 Hos	al Espes	1 7	100				70,000				n)
2		de Raw		- 707		18980		13,780			w, Da	301
3 (slails.					2500:1	1100 1100 1100 1100	A Comment		460	
4	allact								112	- 13	W,	
Otal							100	1 - 99				
Scher	Jule- 6			otten	Walter Street			?.bo,?8				
Scher Details of vote	of expenditu er's slips	re on Campaign	0.19%			end on candida		kiasks) outs	ide polir	ng sta		
Details	of expenditu er's slips Date and	re on Campaign Expenses on Ca	0.19%			end on candida	ates' booths (ide polir	ng sta		
Scher Details of vote	of expenditu er's slips		impaig		kers N		ates' booths ()	kiasks) outs	ide polir Expend	ng sta	tions for dis	Amt. B
Scher Details of vote	of expenditu ers slips Date and Venue	Expenses on Ca Nature of Exper	impaig	n wor	kers	b. of workers agents No.	ates' booths () Total amt.	Sources of Amt. By	ide polir Expend	ng sta	tions for dis	
Sched Details of vote S. No	of expenditurer's slips Date and Venue	Expenses on Ca Nature of Exper	empaignses oths	Rate	kers	lo, of workers agents No. I klasks	Total amt. incurred/ auth. In Rs	Sources of Amt. By candidate/	Expend agent	ng sta iture Amil Party	By Pol.	Amt. B
Scher Details of vote S. No	Date and Venue	Expenses on Ca Nature of Exper 3a Candidates' boo (kiosks) set up to distribution of voluments.	empaig nses oths for oter's	Rate 31	kers	b. of workers agents No. of kiosks 3c are seen as a constant of kiosks are seen as a constant of ki	Total amt. incurred/ auth. In Rs	Sources of Amt. By candidate/	Expend agent	ng sta iture Amil Party	By Pol.	Amt. B
Scher Details of vote 8. No 1	Date and Venue	Expenses on Ca Nature of Exper 3t Candidates' boo (idosks) set up idistribution of visips Campaign work honoratium/ sa	empaig nses oths for oter's	Rate 31	kers	b. of workers agents No. of kiosks 3c serves	Total amt. incurred/ auth. In Rs	Sources of Amt. By candidate/	Expend agent	ng sta iture Amil Party	By Pol.	Amt. B
Scher Details of vote 8. No.	Date and Venue	Expenses on Ca Nature of Exper Sa Candidates' boo (idosks) set up I distribution of v slips Campaign work honorarium/ sa etc.	empaig nses oths for oter's	Rate 31	kers	b. of workers agents No. of kiosks 3c serves	Total amt. incurred/ auth. In Rs	Sources of Amt. By candidate/	Expend agent	ng sta iture Amil Party	By Pol.	Amt. B
Scher Details of vote S. No.	Date and Venue	Expenses on Ca Nature of Exper Sit Candidates' boo (idosks) set up to distribution of visips Campaign works honorarium/ sa etc. Boarding	empaig nses oths for oter's	Rate 31	kers	b. of workers agents No. of kiosks 3c serves	Total amt. incurred/ auth. In Rs	Sources of Amt. By candidate/	Expend agent	ng sta iture Amil Party	By Pol.	Amt. E
Scher Details of vote S. No 1 1 2 3 4 5	Date and Venue	Expenses on Ca Nature of Exper 3t Candidates' boo (idoskis) ser up idistribution of visips Campaign work honorarium/ saleto. Boarding Lodging	empaig nses oths for oter's	Rate 31	kers	lo. of workers agents No. 1 kiosks 3:	Total amt. incurred/ auth. In Rs	Sources of Amt. By candidate/	Expend agent	ture Amt. Party	By Pol.	Amt. E
Scher Details of vote S. No. 1 1 2 3 4 5	Date and Venue	Expenses on Ca Nature of Exper 3t Candidates' boo (idoskis) ser up idistribution of visips Campaign work honorarium/ saleto. Boarding Lodging	empaig nses oths for oter's	Rate 31	kers	lo. of workers agents No. 1 kiosks 3:	Total amt. incurred/ auth. In Rs.	Sources of Amt. By candidate/	Expend agent	ture Amt. Party	By Pol.	Amt. E
Scher Detailt of vote S. No. 1 1 1 Control Scher Scher Scher	Date and Venue 2 206,4,-24 Indukki H.P.C.	Expenses on Ca Nature of Exper 3t Candidates' boo (idoskis) ser up idistribution of visips Campaign work honorarium/ saleto. Boarding Lodging	empaig isses eths for voter's ers lary	Rate 3 3 4 5 6 7 7 7 8	kers	b. of workers agents No. of koosks ac company	Total amt. incurred/ auth. In Rs.	Sources of Amt. By candidate/	expending agent	ture Amt. Party	By Pol.	Amt. B

Adv. Sargest Viscoanathan.

1	2		3			4		5		6
								-		
2		1	-		1				-	_
3				, se,	-			_		
4		1					-			_
Total							-			_
							-	_		4
Sche	dule- 8									
Detail	is of Lump sum amo	unt received f	rom the party (x	es) in o	ash or chequ	ue or DD	or by Acco	nt Transfer		
S. No.	Name of the Politic	al Party	Date	Cash			eque no. et tails of draw	: Total Amou ee Ps	int in	Remarks, in
1	2		3		4		5	6		7
1	Board 5	licerros	16.4.24			PHAR		20.00		a-
2	Dana San					S.G.	N .	30.00		
3							dup+ v			153
4						9100	T- 64 6 6 6 10 9 5	5.20		
	Total						A. H. Carrier	b5. 20.		
					= 1	-				
Schei	dule 9		-							
	s of Lump sum amou	unt received for	rom any person	/compa	ny/firm/asso	ciations/	body of pen	ons etc. as loan	, gift	or donation
	Name and address	lame and address Date		etc		D' Cheque no. Mention when c with details loan, gift or drawee bank donation etc.				
	1,200	Date	Cash	et	c. with detail	ls loar	n, gift or	er Total Amo	ount	Remarks
	2	Late 3	1000	et	c. with detail	ls loar	n, gift or		ount	Remarks 8
Vo.	2	3	1000	et of	c with detail drawee ban 5	ls loar k dor	n, gift or nation etc. 6	in Pls	ount	X-15/451/48
Va. 1	2 (Sel: Prallo	3	4	ent of	c with detail drawee ban 5	ls loar k dor	n, gift or nation etc.	in Rs.		8
1 1	2 19d: Prallo Sto Pealok	3	4	ent of	c with detail drawee ban 5	ls loa k dor	n, gift or nation etc. 6	in Rs 7		8
No. 1 1 2	2 (Sel: Prallo	3	4	ent of	c with detail drawee ban 5	ls loar	n, gift or lation etc. 6	in Ps 7	200	8
No. 1 1 2 3	2 19d: Prallo Sto Pealok	3	4	ent of	c with detail drawee ban 5	ls loar	n, gift or nation etc. 6	in Rs 7 30.0	e00 17	8
No. 1 1 2 3 4	2 19d: Prallo Sto Pealok Ollmens	3	4	ent of	c with detail drawee ban 5	ls loar	n, gift or lation etc. 6	in Ps 7	e00 17	8
No. 1 2 3 4	2 ISO: Prallo Sto Paalok Olkocks Total	3	4	ent of	with detail drawee ban 5	Is load	n, gift or lation etc.	10,35,7	e00 17	8
No. 1 2 3 4 Scheen	2 ISM: Prallo Sto Paciolo Olimones Total Jule: 10	3	4	ent of	with detail drawee ban 5	Is load	n, gift or lation etc.	10,35,7	e00 17	8
1 1 Z 3 4 Control of the control of	2 Sto Prailing Sto Prailing Sto Prailing Sto Prailing Storage Total Storage Newspaper Poarsealar	med on public	4 -	ent of	c with detail drawee ban 5	ls load load load load load load load load	n, gift or nation etc. 6 Soith per and TV	in Rs 7 30,0 10,05,7 10,35,7	Mod payr (elecue/U	e of ment ctronic/cheq
No. 1 2 3 4 Oetalis	2 Sto Prallo Sto Prallo Sto Prallo Sto Prallo Sto Prallo Olimans Total dule-10 sof expenditure incu Newspaper Poarsealar Poarsealar	med on public	thing criminal ar	ett of	or with detail drawee ban 5	Is load load load load load load load load	n, gift or lation etc. 6 Contact of the lation etc. Signature and TV per and TV	in Rs 7 30,0 10,05,7 10,35,7	Mod payr (elecue/U	e of ment ctronic/cheq
1 1 Z 3 4 4 Scheckers SL No.	2 Sto Prailing Sto Prailing Sto Prailing Sto Prailing Storage Total Storage Newspaper Poarsealar	med on public	4 -	et of	to with detail drawee ban 5	Is load load load load load load load load	per and TV	in Rs 7 30,0 10,05,7 10,35,7	Mod payr (elecue/U	e of ment ctronic/cheq
1 1 Z 3 4 4 Scheckers SL No.	Del: Prallo Sto Paciolo Sto Paciolo Olimones Total dule: 10 sof expenditure incu Newspaper Poarsealar Marrie of	red on public	Expenses the have been in	et of	or with detail drawee ban 5	Is load load load load load load load load	per and TV	in Rs 7 30.0 10,05,7 10,35,7 Channel Expenses that may have been incurred (in	Mod payr (elecue/U	e of ment ctronic/cheq
2 3 4 Scheo	2 ISd: Preallo Sto Pecloto Olimones Total Jule- 10 sof expenditure incu Newspaper I Da vogalar Newspaper 2 Posegalar 2	med on public acret Noc Date of publishing	Expenses that have been in (in Fs.)	et of	or with detail drawee ban 5 5 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Is los los los los los los los los los lo	per and TV STime of ion/teleca	in Rs 7 30.0 10,35,7 Channel Expenses that may have been incurred (in Rs.)	Mod payr (election)	e of ment ctronio/cheq DD/cash) specify)
No. 1 2 3 4 Schecker	2 ISA: Prallo Sto Peclob Olivocas Total Jule-10 sof expenditure incu Newspaper Poarogalar Newspaper 2 Poarogalar Poarogalar	med on public Cart No Date of publishing	Expenses that have been in (in Fs.)	et of	or with detail drawee ban 5 5 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Is los los los los los los los los los lo	per and TV STime of ion/teleca	in Rs 7 30.0 10,35,7 Channel Expenses that may have been incurred (in Rs.) 7	Mod payr (election)	e of ment ctronio/cheq DD/cash) specify)

An Songisha wonashan

SI No.	Regno. and type of vehicles	Hiring Charges	Fuel Charges	Drivers Charges	No. of Days	Total Amount	Amount Incurred By P Party
1	KL 38 H 1231 Mahindra Commander	5,000/ day			23 Days	1,15,000	B.D.J.S
2	KL 18 C 6895 Mahindra Commander	5,000/ day			15 Days	75,000	B.D.J.5
3	KL 18 F 4359 Mahindra Commander	5,000/ day			15 Days	75,000	B.D.J.S
4	KL Q 8122 Mahindra Commander	5,000/ day			15 Days	75,000	B.D.J.5
5	KL 35 B 1296 Mahindra Commander	5,000/ day			15 Days	75,000	B.O.J.S
6	KL 32 C 5881 Mahindra Commander	5,000/ day			15 Days	75,000	B.D.J.S
7	KL 32 C 6881 Mahindra Commander	5,000/ day			15 Days	75,000	B.O.LS
8	KL 35 H 7489 Mahindra Commander	5,000/ day		-	15 Days	75,000	B.D.J.5
9	KL 6913 8445 Eicher	6,000/day			15 Days	90,000	8.0.1.5
10	KLG 5604 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.5
11	KL 38 C 4810 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.5
12	KL 07 C 2404 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.S
13	KL 69 D 1565 Mahindra Pickup	6,000/day-			9 Days	54,000	B.D.J.S
14	KL O7 C 2404 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.S
15	KL 64 K 0256 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.S
16	KL 64 D 1050 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.5
17	KL O3 B 1050 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.S
18	KL 38 K 9932 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.5
19	KL 38 J 3490 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.S
20	KL 38 G 0195 Mahindra Pickup	6,000/day			9 Days	54,000	B.D.J.S
21	KI 38 B 8124	6,000/day			8 Days	48,000	B.D.J.S
					250 Days	13,72,000	
72	KL 2 BH 9009 Innova Candidate Vehicle		70,000			70,000	B.D.J.S
	KL 2 BH 9009 Innova Candidate Vehicle	-		18,980		18,980	B.D.J.S
-51914				(14,60,980/-	

Mr. Songalha Visuonathan

Schedule	ii ·						
Details of	of election expenses in	curred on	Virtual Carr	paign			
S.No.	Nature of Virtual Campaign (Indicate Social Media Platforms/Apps/Other means)	Name of content creator	Name of Total media to Amount disseminate in Rs. message	Amount	Sources of Expenditure		
				Amount by candidate/a gent	Amount by political party	Amount by others	
1	2	3	4	5	6	7	8
		- r	11 L				

He Songretto warethan.

Note:

In Schedule 5:-

 (a) copy of the order containing list of all vehicles for which permit issued by the Returning Officer to be enclosed.

(b) If the vehicle is owned by the candidate/his relative/agent are used for election purpose, notional cost of hire of all such vehicles, except one vehicle if owned and used by the candidate, notional cost of fuel and drivers salary for such vehicle, shall be included in total amount of expenditure in the above table.

In all schedules if any expenditure on goods and services, provided by the Political Party, or provided by any person/ company/ finn /associations/ body of persons etc. on behalf of the candidate, then the notional market value of such goods or services are to be indicated, in respective columns.

3. In Part-III, the Lump-sum amount of fund received from the political party or others or the candidate's own funds, should be mentioned date wise. In all such cases such amounts are required to be first deposited in the bank account of the candidate, opened for election expenses.

4. Each page of the Abstract Statement should be signed by the candidate